All results for Neodymium isotopes

Neodymium 122 (Z=60, N=62)
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Neodymium 124 (Z=60, N=64)
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Neodymium 126 (Z=60, N=66)
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Neodymium 123 (Z=60, N=63)
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Neodymium 125 (Z=60, N=65)
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Neodymium 127 (Z=60, N=67)
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All results for Neodymium isotopes

Neodymium 128 (Z=60, N=68) Neodymium 129 (Z=60, N=69)
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Neodymium 130 (Z=60, N=70) Neodymium 131 (Z=60, N=T71)
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Neodymium 132 (Z=60, N=72) Neodymium 133 (Z=60, N=T73)
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All results for Neodymium isotopes

Neodymium 134 (Z=60, N=74) Neodymium 135 (Z=60, N=75)
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Neodymium 136 (Z=60, N=76)
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Neodymium 137 (Z=60, N=77)
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Neodymium 138 (Z=60, N=78)
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Neodymium 139 (Z=60, N=79)
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All results for Neodymium isotopes

Neodymium 140 (Z=60, N=80) Neodymium 141 (Z=60, N=81)
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Neodymium 142 (Z=60, N=82) Neodymium 143 (Z=60, N=83)
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Neodymium 144 (Z=60, N=84) Neodymium 145 (Z=60, N=85)
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All results for Neodymium isotopes

Neodymium 146 (Z=60, N=86) Neodymium 147 (Z=60, N=87)
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Neodymium 148 (Z=60, N=88) Neodymium 149 (Z=60, N=89)

UARRIRMASI T T T off M o T T AARRRAARS T T T o T T
L 4 = Protons P Protons i A, f Proons 100~ 3 = Protons
B > Neumons] - 0. Neutrons Bs > 205 Neutons 1 ~ 04l Neutrons
i e . 7 ER y ] 1 /1 e
/ >3 > f £ / 2 > I <
2 LL < g ) Sood 3 2 bf ety ~.1 ¢ nJ Too E
a & o s /S 1T * & ANV I f | 4%
proors S . A Protons f N i e | AW
N\, Neutons I AN N, Neurons 5
€L B ] o 0o 5 1 15 €L B ] e o 0 5 10 15
u T (fm)
S | protons s | poons
T 2 [ Neuwons T T @ [ Neurons T Protons__Neutrons
S 4 s 4
L pours ST - 1L poons S
Neurons et Sl 1 N Neutons ot E
108f L L Ld 2 < \
s h - ]
© =
2200 B PR RN 50
1 s 1g- S 4
2«
Nannnllnnnellnnnaf] Hrnal Ml
SR < e R Lt < T T
N 1 s 15+ 4 £° Re
o ]
& S & Seb
1w i 1 o 1w Al /’
B[ - < =) /
il w A wos- B w
g B g
N N
LR oo R e \I\,f‘q,/\‘/v\(v
TN Toilinnl n Lol LT

HFB-D1S Bruyéres-le-Chatel HFB-D1S Bruyéres-le-Chatel

Neodymium 150 (Z=60, N=90) Neodymium 151 (Z=60, N=91)
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All results for Neodymium isotopes

Neodymium 152 (Z=60, N=92) Neodymium 153 (Z=60, N=93)
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Neodymium 154 (Z=60, N=94) Neodymium 155 (Z=60, N=95)
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Neodymium 156 (Z=60, N=96) Neodymium 157 (Z=60, N=97)
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All results for Neodymium isotopes

Neodymium 158 (Z=60, N=98) Neodymium 159 (Z=60, N=99)
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Neodymium 160 (Z=60, N=100) Neodymium 161 (Z=60, N=101)
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Neodymium 162 (Z=60, N=102) Neodymium 163 (Z=60, N=103)

8R* (fm?)

T T T T T o. T T T 40ET T = o T T
i 2R Protons P Protons L 1 = Protons ~ Protons
N 3 Neutrons A0 A g Neutrons Bs 3N NeutronsS ~u A g od Neutrons
/ b3 > £ / 2 5 > e
/ 2, 3 ook E ool R 2 Soof E
Uy 7N - : A T e : Ve T
Proions i o3 esy ] A Protons e o 1 AL
N\, Noios ST N Rems <o
L B 1 I 0o s 1 15 A€ B 1 - - / 0o 5 1 15
ITNTAI TR VAT T ANV AN 1 (fm)
S S o~~~
R I Se— A e 3 A B T Prokns B Neutrunsh
2 T broons 2 T proons ssoff ] ] y
| poons < 1o Neurons 1 ~uf E 17 Protons < 10 Neutons 1~
Neutrons RS Pt q Neutrons RS
| ] S E 1 o0l E
Hels g g < =1 |
T T T € T =2 3 T T T €
] x w o . % sl A
7 o\ 1 1 ]2 I
bl 2 |
Ml Tl ol A
T T T T g e
3 ? 3
: s o~ s ST A
Tl owad 2 wif ? f
2 | — ARV
s 4 w w /
Ed o o o
N Nlo
o o—
T I LS i T TV I T D)
05 00 05 10 05 00 02 04 06 08 05 00 05 10 05 05 00 05 10

HFB-D1S Bruyéres-le-Chatel HFB-D1S Bruyéres-le-Chatel



All results for Neodymium isotopes

Neodymium 164 (Z=60, N=104)
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Neodymium 166 (Z=60, N=106)
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Neodymium 168 (Z=60, N=108)

HFB-D1S Bruyéres-le-Chatel

Neodymium 165 (Z=60, N=105)
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Neodymium 167 (Z=60, N=107)
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Neodymium 169 (Z=60, N=109)
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All results for Neodymium isotopes

Neodymium 170 (Z=60, N=110)
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Neodymium 172 (Z=60, N=112)
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Neodymium 174 (Z=60, N=114)
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Neodymium 171 (Z=60, N=111)
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Neodymium 173 (Z=60, N=113)
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Neodymium 175 (Z=60, N=115)
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All results for Neodymium isotopes

Neodymium 176 (Z=60, N=116) Neodymium 177 (Z=60, N=117)
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Neodymium 178 (Z=60, N=118) Neodymium 179 (Z=60, N=119)
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Neodymium 180 (Z=60, N=120) Neodymium 181 (Z=60, N=121)

UARRIRMASI 2T T T 0. T T AARRRAARS T o T T
| 4 = Protons P Protons €L A o, f Proons P Protons
B $ Neuons] AT Neutons B S 2 Leaions 1~ of Neuons
/ 2 1 5 1€ / H > o £
A = 9 S A = 9 =
< uj 1 = - FE E < uf = v ] E
Protons € s - N 0 Protons L i i
N Ratos = N R S\
L B 1 0o s 1 15 L OB 1 0o 5 1 15
ITNTAI TRV 1 (fm) T TRV AT 1 (fm)
s s
(T 2 Protons T (s (O (e 2 Protons T G AEE
oo R Neutons | . S Neutrons | =
rotons < rotons < ~ob
g ! Neutrons . o 1 Newons - N
< { <
g i £
I3 o
1 4 1
bl 2
ol Ml -
S A o T s Lt ol
S Rot S
o E 4 ] )
& S /] = s
€ wat), 2 v € W ?
13 s |\ £ 2
% 7 u W 1 w
3 ks o & o o
i ] N 15 fIs ] N
R.,F - R
] | S| T |
05 00 05 10 05 00 02 04 06 08 05 00 05 10 05

HFB-D1S Bruyéres-le-Chatel HFB-D1S Bruyéres-le-Chatel



All results for Neodymium isotopes

Neodymium 182 (Z=60, N=122) Neodymium 183 (Z=60, N=123)
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Neodymium 184 (Z=60, N=124) Neodymium 185 (Z=60, N=125)
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Neodymium 186 (Z=60, N=126) Neodymium 187 (Z=60, N=127)
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